InTenexkryaabHuii gpiTHec

Tusics 1.JIns1 kBagpaTHOTO PIBHSIHHS 3HANIITH TUCKPUMIHAHT 1 BKOXKITh

3amam’siTainTe
KUTBKICTh HOTO KOPEHIB:

a) 2x?—3x+1=0;0)4x?*+4x+1=0;8) - 3x?*+6x—4=0;

122 +3x+1=0;m) 2@ +x+2=0;¢) 902+ 6x+1=0.

2.P0o3B'sIKITh PIBHSIHHA:

o 15 a) x2— 6x +5=0; 6) x? + 4x— 12 = 0;
B) x>+ 7x+10=0; r)x>—3x+4=0;
1) 32— 10x + 25 = 0; ¢) X% — 4y —21 = 0;
€) 22— 5x + 3= 0; ) 2%+ x—1=0;
3) 3x% + 5x — 2 =0; n) 4x*> —4x+1=0;
i) 2x> - 3x+2=0; i) 7x*—6x—-1=0;
) 3x2-Tx+4=0; K) 5x% — 8x + 3=0;
1) 3x2 — 13x + 14 = 0; M) 22— 9y + 10 = 0:

H) 52— 6y +1=0; 0) 4x*> + x - 33 =0.



